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ECE 300
Spring Semester, 2007
HW Set #12
Due: April 25, 2007 / Bt
Name [ A~ &)/
Wilg: Version 2 Print (last, first]

Use engineering paper. Work only on one side of the paper. Use this sheet as your cover sheet,
placed on top of your work and stapled in the top left-hand corner. Number the problems at the top
of the page, in the center of the sheet. Do neat work. Underline your answers. Show how you
got your equations. Be sure to show how you got your answers. Each problem counts 10 points.

11.4 Ps =1486 W, Pg=5.588 W, Ps=20.43 W

11.7 160 W

1128 Vrms =292V, P=427W

11.46 (a) (1) S=(95.25-j55) VA=110£-30deg VA;
(i) |S|=110VA
(1)) P=9526W
(iv) Q=55VARs
(v)  Pf=cos(-30) =.866 leading

(b) S=(1497.2 +j401.2) VA = 155015 deg VA
(1) S =(1497.2 + j401.2) VA
(i1) IS|=1550 VA
(1) P=14972W
(iv) Q=401.2VARs
(v) Pf=.9659 lagging
(vi)
11.52 (a) pf=0.9845 leading; (b) Irms=35.55/55.11° A

11.64 Is=39.47.£-159.9 deg V (previous answer used RMS source which was no indicated in the
text)

11.71 (a) Z=0.05107.£2° Q
(b) pf=0.9994 lagging
(¢) Inms =2.392/-2° KA

11.74 (a) pf=0.8992 lagging

(b) C=5.74 mF
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